

**Find:**

$$\Omega = \sum_{k=1}^{\infty} \frac{H_k 2^{-k}}{(k+1)}$$

*Proposed by Vincenzo Dima-Italy*

**Solution by Shirvan Tahirov-Azerbaijan**

$$\begin{aligned} \sum_{k=1}^{\infty} \frac{H_k 2^{-k}}{(k+1)} &= \sum_{k=1}^{\infty} \frac{H_k}{2^k (k+1)} = \sum_{k=1}^{\infty} \left( \frac{H_k}{2^k} \cdot \frac{1}{(k+1)} \right) = \sum_{k=1}^{\infty} \frac{H_k}{2^k} \int_0^1 x^k dx = \\ &= \int_0^1 \left( \sum_{k=1}^{\infty} H_k \left(\frac{x}{2}\right)^k \right) dx = - \int_0^1 \frac{\ln\left(1 - \frac{x}{2}\right)}{\left(1 - \frac{x}{2}\right)} dx = - \left( -\ln\left(1 - \frac{x}{2}\right) \right) \Big|_0^1 = \\ &= - \left( -\ln^2(2) \right) = \ln^2(2) \end{aligned}$$

**Note :**

$$\sum_{k=1}^{\infty} H_k x^k = -\frac{\ln(1-x)}{1-x}$$

*Where  $H_k$  is the harmonic number.*